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THESIS FRAMES

According to Jared Diamond , the inequality of the modern world is caused by ______, ______, _______.

Jared Diamond explains that the inequality of the world is a result of ______, _______, ______.

Jared Diamond presents the position that _______, _______, _______ has caused modern inequality.

Jared Diamond uses _______, _______, ______ to explain modern inequality

Modern inequality, according to Jared Diamond, is a result of/ is caused by _______, _______, _______.

How does Jared Diamond explain why the modern world is so unequal?
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